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Mathematics |
In the figure <B = 90°, BC = 1, tanA = 1/V3, what is the length of AB.
4
|
1
3
‘the product of two first degree polynomials. (1]
of the polynomial 5x3-4x2-x-k what number is k? [2]
dents in a class are given below.
29. Find the mean and median. [2]
ind cosA and tanA. (2]
 of the point P which divides the line joining the points A(3,2) and B(8,7) in
: (2]

uare. Its diagonals are parallel to the coordinate axes. AC = 6 and
), write the coordinates of the vertices B, C and D.

(3]

th of its smaller side is 7 centimetres.

etres and area 96 square centimetres [3]
> A('3,2), B(lis) and C(a"4) [3]

,4).
3 (4]

of a tower sees the top of a
building, he sees the top of

4]
(4



sified on the basis of marks obtained in an examination.

(4]
(5]

Vrite p(x) as the product of two first degree
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